If loQbase # = exponent, then base®¥P° "= number.
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lUse the properties to condense the equation, if necessary.

2. Ifthe equation only has logs on one side of the equal sign, you will
have to rewrite it as an exponential equation.

If it iIs a quadratic equation, you will need to factor to solve.

Be sure to go back and check your answer(s) in the expressions.
The expressions cannot be a zero or a negative.
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1. log,(4-5x)=2 2. logy(5x—-1)=3
3. log(x*+21x) =2 4. logy(2x) + logy(x—2)=2
!
5. logs(y +4) + log,(3y) =2 6. log(x +9) — logx =
7. logsx + logs(x—6) =3 8. log,192 — log,(3x) =2
9. log,(4x) — logy(x—2) =3 10. logy(x —15) = logsx = 2







